il

RACING

INSTRUCTION MANUAL FOR
NEXT LEVEL RACING
SEAT ADD ON/ GTULTIMATE

For assistance please contact: support@nextlevelracing.com
www.nextlevelracing.com




Thank-you for purchasing a

=0

EE RACING I

Seat Add On/ GTultimate

If you require any support with your product please contact
our friendly team at:

support@nextlevelracing.com for a prompt response.




TP

RACING SEAT ADD ON/ GTULTIMATE

What’s In The Box:

L S
!
g

““
fl ' | &k E M8 ALLEN KEY

2X M8 85MM BOLTS 4x MB 50MM BOLTS 4) M8 35MM BOLTS

TR L 411010 i

2X M6 10MM BOLTS 7X M8 15MM BOLTS

CENTRE BAR

SIDE PAMELS

BUTTKICKER ADAPTOR

F
rLA

A
B

GTULTIMATE SEAT ;
U SHAPE BAR GEAR SHIFTER ADAPTOR

: ' GEAR SHIFTER PLATE
T POLE

For assistance please contact: support@nextlevelracing.com

www.nextlevelracing.com



T

RACING SEAT ADD ON/ GTULTIMATE

Step 1:
Centre Bar
M8 35MM
BOLTS
M8 15MM U Shape Bar
BOLTS

BAR using 2 x M8 15MM BOLTS.

Step 2: ]@

STOP IF USING MOTION PLATFORM, REFER TO MOTION PLATFORM ¢
INSTRUCTIONS BEFORE ATTACHING SEAT

L M
- _ y

srid 28 ]

£ 048
.- ' 5'

&

e

Install SIDE PANELS to the GTULTIMATE SEAT using 2 x M8 50MM BOLTS. At same time feed the
seat belt through the seat as pictured below and attach seat belt to the front bolt.
Repeat both sides.

For assistance please contact: support@nextlevelracing.com

www.nextlevelracing.com




T

RACING SEAT ADD ON/ GTULTIMATE

Step 3:

Feed through longest straps of harness through seat headrest holes. Attach 2X
CROSS HEAD SCREWS to frame under back of seat.

Step 4:

Attach support bars from U SHAPE BAR to frame under seat using
2X M6 10MM BOLTS.

For assistance please contact: support@nextlevelracing.com

www.nextlevelracing.com




T

RACING SEAT ADD ON/ GTULTIMATE

Step 5:

T Pole

i

Attach T POLE under seat using 2X M8 15MM BOLT. (Left or right side depending on
gear shifting preference)

Step 6:

Gear Shifter
Adaptor

Gear Shifter
Plate

A

Attach GEAR SHIFTER ADAPTOR to T POLE using 2X M8 15MM BOLTS. Attach
GEAR SHIFTER PLATE to GEAR SHIFTER ADAPTOR using 1X M8 15MM BOLT.

For assistance please contact: support@nextlevelracing.com

www.nextlevelracing.com




T

RACING SEAT ADD ON/ GTULTIMATE

GEAR SHIFTER ADAPTOR reversible to be further or closer.

Step 7 (OPTIONAL):

If you own the Buttkicker Gamer 2, attach the optional BUTTKICKER ADAPTOR
using holes underneath seat framing. Install with 2X M8 35MM BOLTS.

For assistance please contact: support@nextlevelracing.com

www.nextlevelracing.com




TP

RACING SEAT ADD ON/ GTULTIMATE

LUMBAR CUSHION
Step 8:

Feed strap through seat and clip into position.

For assistance please contact: support@nextlevelracing.com

www.nextlevelracing.com




TP

RACING SEAT ADD ON/ GTULTIMATE

GTULTIMATE SETUP
Step 9:

Attach WHEEL STAND to SEAT ADD ON using 2X M8 85MM BOLTS.

For assistance please contact: support@nextlevelracing.com

www.nextlevelracing.com




T

RACING SEAT ADD ON/ GTULTIMATE

FLATTENING/ ADJUSTING PEDAL PLATE ANGLE

Step 10 (OPTIONAL):
For customers that need angle of pedal plate flatter or have high
performance pedals that require stronger support

Remove M8 BOLT in hinge in middle of pedal plate.

Support Posts

mET ‘-:-:l':"" ,u = e
Flatten front plate and pedal plate
will sit flat as pictured above.

Remove front plate entirely for completely

We recommend installing the optional flattened pedal plate
SUPPORT POSTS provided.

For assistance please contact: support@nextlevelracing.com

www.nextlevelracing.com




TP

RACING SEAT ADD ON/ GTULTIMATE

NEED ASSISTANCE?

If you require any support with your product please contact our
friendly team at:

support@nextlevelracing.com

for a prompt response.

For assistance please contact: support@nextlevelracing.com

www.nextlevelracing.com



TP

RACING SEAT ADD ON/ GTULTIMATE

FOLDS FOR EASY STORAGE

P o

For assistance please contact: support@nextlevelracing.com
www.nextlevelracing.com



T

RACING SEAT ADD ON/ GTULTIMATE

CZ

Krok 1: Nainstalujte SIDE PANELS na U SHAPE BAR pomoci Sroubl 2 x M8 35MM a na CENTRE BAR pomoci
Sroubl 2 x M8 1I5MM

Krok 2: JESTLIZE POUZIVATE MOTION PLATFORM, PRERUSTE PRACI A PODIVEJTE SE PRED PRIPOJENIM
SEDADLA DO NAVODU K MOTION PLATFORM.

Pomoci SROUBU 2 x M8 50MM naistalujte SIDE PANELS k GTULTIMATE SEAT. Soucasné provlecte pas
sedadla sedadlem dle niZe uvedeného vyobrazeni a pfipojte pds sedadla k pfednimu Sroubu.

Provedte na obou stranach.

Krok 3: Provlecte nejdelSi pasy zapfahu skrze otvory opérek pro hlavu. Pfipojte 2X CROSS HEAD SCREWS k
ramu pod sedadlem.

Krok 4: Pomoci SROUBU 2X M6 10MM ptipojte podptirné nosniky U SHAPE BAR k rédmu pod sedadlem.

Krok 5: Pripojte T POLE pod sedadlo pomoci SROUBU 2X M8 15MM. (Levé nebo pravé strana zavisi na
preferenci fazeni rychlosti)

Krok 6: Pomoci SROUBU 2X M8 15MM pfipojte GEAR SHIFTER ADAPTOR k T POLE. Pomoci SROUBU 1X M8
15MM pfipojte GEAR SHIFTER PLATE k GEAR SHIFTER ADAPTOR.
GEAR SHIFTER ADAPTOR je nastavitelny do vzdalené&jsi i blizsi polohy.

Krok 7 (nepovinny): Jestlize mate Buttkicker Gamer 2, pfipojte nepovinny BUTTKICKER ADAPTOR pomoci
otvorl pod rdmem sedadla. Nainstalujte jej pomoci SROUBU 2X M8 35MM.

Bederni polstar
Krok 8: Nastavte polohu LUMBAR CUSHION na podporu spodni ¢asti patere.
Provlelte pds sedadlem a pfipevnéte jej do spravné polohy.

GTultimate Setup:
Krok 9: Pomoci SROUBU 2X M8 85MM pfipojte WHEEL STAND k SEAT ADD ON.

Zplosténi / sefizeni dhlu peddlové desky
Krok 10 (nepovinny): Pro zakazniky, ktefi potfebuji plossi uhel nastaveni peddlové desky nebo maji vysoce
vykonné pedaly, které vyzaduji pevnéjsi podpéru

Odstrarite SROUB M8 v pantu uprostied desky peddlu.

Provedte na obou stranéach.

Nastavte naplocho pfedni desku a peddlova deska bude usazena naplocho, jak je vyobrazeno vySe.
Doporucujeme Vam nainstalovat si volitelné dodavané SUPPORT POSTS.

Jestlize se svym produktem potifebujete poradit, kontaktujte prosim nds pratelsky tym na adrese:
support@nextlevelracing.com, kde dostanete okamzitou odpoveéd.

For assistance please contact: support@nextlevelracing.com

www.nextlevelracing.com




T

RACING SEAT ADD ON/ GTULTIMATE

NL

Stap 1:
Installeer SIDE PANELS op U SHAPE BAR met 2 x M8 35MM BOLTS en CENTRE BAR met 2 x M8 15MM
BOLTS.

Stap 2: STOP BlJ GEBRUIK VAN MOTION PLATFORM, ZIE MOTION PLATFORM

INSTRUCTIES VOORDAT DE ZETEL WORDT BEVESTIGD.

Installeer de SIDE PANELS aan de GTULTIMATE SEAT d.m.v. 2 x M8 50MM BOLTS. Voed tegelijkertijd de
veiligheidsgordel door de zetels zoals hieronder afgebeeld en bevestig de veiligheidsgordel aan de voorste
bout.

Herhaal voor beide kanten.

Stap 3: Voer door de langste riemen van het harnas door de openingen van de hoofdsteun. Bevestig 2X
CROSS HEAD SCREWS aan het frame onder de rugleuning.

Stap 4: Bevestig ondersteuningsstaven van de U SHAPE BAR aan het frame met behulp van zadel
2X 10MM M6 SCHROEVEN.

Stap 5: Bevestig de T POLE onderzetel d.mv. een 2X 15MM M8 BOLT. (Links of rechts afhankelijk van de
voorkeur voor het schakelen van de versnellingen)

Stap 6: Bevestig GEAR SHIFTER ADAPTOR aan de T POLE d.m.v. 2X M8 15MM BOLTS. Bevestig de GEAR
SHIFTER PLATE aan de GEAR SHIFTER ADAPTOR d.m.. een 1X M8 15MM M8 SCHROEF.

GEAR SHIFTER ADAPTOR is omkeerbaar om verderaf of dichterbij te zijn.

Stap 7 (optioneel): Als u de eigenaar bent van de ButtKicker Gamer 2, bevestig dan de optionele
BUTTKICKER ADAPTOR d.m.v. de gaten onderaan het zetelframe. Installeer d.myv. 2X M8 35MM M8 BOLTS.

lendenkussen
Stap 8: Functie LUMBARCUSHION als lagere rugleuning.
Voed de riem door de zetel en klik op zijn plaats.

GTultimate Setup:
Stap 9: Bevestig WHEEL STAND SEAT aan de SEAT ADD ON d.m.v. 2X M8 85MM BOLTS.

Het afvlakken / aanpassen van de hoek van de pedaalplaat
Stap 10 (optioneel): Voor klanten die een hoek of pedaal afvlakker nodig hebben of die hoge performante
pedalen hebben die meer steun vereisen

Verwijder de M8 BOLT in de scharnier in het midden van de pedaalplaat.

Herhaal aan beide kanten

Vlak de voorplaat af en de pedaalplaat zal vlak zitten zoals bovenaan afgebeeld.

We raden aan om de optionele SUPPORT POSTS te installeren die verstrekt werden.

Als u ondersteuning nodig heeft met uw product kunt u contact opnemen met ons vriendelijke team op:
support@nextlevelracing.com voor prompt antwoord.

For assistance please contact: support@nextlevelracing.com

www.nextlevelracing.com




T

RACING SEAT ADD ON/ GTULTIMATE

Etape 1:
Fixez les SIDE PANELS a I'U SHAPE BAR a l'aide des boulons 2 x M8 35MM et la CENTRE BAR en utilisant
les boulons 2 x M8 15MM.

Etape 2 : ARRETEZ LUOPERATION S| VOUS UTILISEZ UNE MOTION PLATFORM, LISEZ LES INSTRUCTIONS
SUR LA MOTION PLATFORM AVANT DE FIXER LE SIEGE.

Fixez les SIDE PANELS au GTULTIMATE SEAT a I'aide de boulons 2 x M8 50MM. Au méme moment, faites
passer la ceinture de sécurité a travers le siege comme sur la photo ci-dessous et fixez-la a I'aide du boulon
avant.

Répétez la procédure pour les deux cotés.

Etape 3 : Faites passer la plus longue sangle du harnais a travers le siege en passant par les trous de I'ap-
pui-téte du siege. Fixez les 2X CROSS HEAD SCREWS au cadre situé sous le dossier du siége.

Etape 4 : Fixez les barres d’appui de I'U SHAPE BAR au cadre situé sous le siege a I'aide des boulons 2X M6
10MM.

Etape 5 : Fixez le T POLE sous le siége a I'aide du boulon 2X M8 15MM. (A gauche ou a droite selon vos
préférences en matiere de changement de vitesses)

Etape 6 : Fixez le GEAR SHIFTER ADAPTOR au T POLE en utilisant des boulons 2X M8 15MM. Ensuite, fixez
le GEAR SHIFTER PLATE au GEAR SHIFTER ADAPTOR a l'aide du boulon 1X M8 15MM.
Le GEAR SHIFTER ADAPTOR peut étre plus ou moins incliné ou éloigné/rapproché.

Etape 7 (Facultative) : Si vous avez un Buttkicker Gamer 2, fixez I'adaptateur BUTTKICKER en option en vous
servant des trous situés sous le siége. Fixez-le a I'aide des boulons 2X M8 35MM.

LUMBAR CUSHION
Etape 8 : Positionnez le LUMBAR CUSHION pour qu’il soutienne le bas de votre dos.
Faites passer la sangle a travers le siege et encliquetez-la.

GTultimate Setup :
Etape 9 : Fixez le WHEEL STAND au SEAT ADD ON a l'aide des boulons 2X M8 85MM.

Aplatissement/ Ajustement de 'angle de la plaque pour pédalier
Etape 10 (Facultative) : Pour les utilisateurs désirant avoir une plaque pour pédalier a 'angle plus faible/plat
ou des pédales plus performantes nécessitant un appui plus solide

Retirez le boulon M8 de charniere du milieu de la plaque pour pédalier.

Répétez la procédure pour les deux cotés.

Lavant de la plaque aplatie et le pédale de la plaque prendront un angle plat comme sur la photo ci-des-
sous.

Nous vous recommandons d’installer les SUPPORT POSTS facultatifs fournis.

Si vous avez besoin d’aide pour installer votre produit, veuillez contacter notre équipe expérimentée a :
support@nextlevelracing.com pour une intervention rapide

For assistance please contact: support@nextlevelracing.com

www.nextlevelracing.com




T

RACING SEAT ADD ON/ GTULTIMATE

IT

Passaggio 1
Istallare i SIDE PANELS sulla U SHAPE BAR utilizzando le VITI 2 x M8 35MM e la CENTRE BAR utilizzando le
VITI 2 x M8 15MM.

Passaggio 2: IN CASO DI UTILIZZO DELLA MOTION PLATFORM, FARE RIFERIMENTO ALLE ISTRUZIONI PER
LA MOTION PLATFORM

PRIMA DI COLLEGARE IL SEDILE.

Istallare i SIDE PANELS allo GTULTIMATE SEAT utilizzando le VITI 2 x M8 50MM. Contemporaneamente

far passare la cintura di sicurezza attraverso il sedile come mostrato nella figura in basso ed agganciare la
cintura al perno frontale.

Ripetere su entrambi i lati.

Passaggio 3: Far passare le cinghie lunghe dell'imbracatura attraverso le forature presenti sul poggiatesta.
Collegare 2X CROSS HEAD SCREWS per agganciarle sotto il sedile.

Passaggio 4: Collegare le barre di supporto dalla U SHAPE BAR al telaio situato sotto il sedile utilizzando le
VITI 2X M6 10MM.

Passaggio 5: Collegare il T POLE sotto il sedile utilizzando le VITI 2X M8 15MM.(Posizionare a destra o a
sinistra a seconda della preferenza del cambio)

Passaggio 6: Collegare I'adattatore GEAR SHIFTER ADAPTOR al T POLE utilizzando le VITI 2X M8 15MM.
Collegare lo GEAR SHIFTER PLATE allo GEAR SHIFTER ADAPTOR utilizzando le VITI 1X M8 15MM.
Ladattatore GEAR SHIFTER ADAPTOR pu0 essere posizionato in posizione di prossimita o piu distanziato.

Passaggio 7 (opzionale): Se siete in possesso del Buttkicker Gamer 2, collegare TADATTATORE BUTTKICK-
ER opzionale utilizzando i fori situati sotto il sedile. Utilizzare le VITI 2X M8 35MM.

Cuscinetto lombare
Passaggio 8:Posizionare il LUMBAR CUSHION come supporto alla zona lombare.
Far passare la cinghia attraverso il sedile e aggangiarla in posizione.

GTultimate Setup:
Passaggio 9: Collegare il supporto WHEEL STAND al sedile SEAT ADD ON utilizzando le viti 2X M8 85MM
BOLTS.

Abbassare/ Regolare 'angolo della pedaliera
Passaggio 10 (opzionale): Nel caso in cui vi sia la necessita di abbassare la pedaliera o nel caso di pedali ad
alte prestazioni che richiedono un supporto ulteriore

Rimuovere la vite M8 BOLT dal cardine situato al centro della pedaliera.

Ripetere su entrambi i lati.

Abbassando la piastra frontale la pedaliera si diventera piatta come mostrato sopra.
Si raccomanda l'istallazione del SUPPORT POSTS opzionale in dotazione.

Per ulteriori informazioni e supporto, il nostro team & a completa disposizione e pud essere contattato all’in-
dirizzo: support@nextlevelracing.com.

For assistance please contact: support@nextlevelracing.com

www.nextlevelracing.com




T

RACING SEAT ADD ON/ GTULTIMATE

ES

Paso 1:
Instale los SIDE PANELS en la U SHAPE BAR usando los 2 x TORNILLOS M8 DE 35 MM y la CENTRE BAR
usando los 2 x TORNILLOS M8 DE 15 MM.

Paso 2: PARE SI UTILIZA LA MOTION PLATFORM, CONSULTA LAS INSTRUCCIONES MOTION PLATFORM
ANTES DE INSTALAR EL ASIENTO.

Instale los SIDE PANELS en el GTULTIMATE SEAT usando los 2 x TORNILLOS M8 DE 50 MM. Al mismo
tiempo, pase el cinturén del asiento por el asiento como se muestra a continuacion e instale el cinturén del
asiento en el tornillo frontal.

Repita en ambos lados.

Paso 3: Pase las correas mas largas del arnés por los orificios del cabezal del asiento. Instale los 2 X TOR-
NILLOS CROSS HEAD en la estructura bajo el respaldo del asiento.

Paso 4: Instale las barras de soporte desde la U SHAPE BAR hasta la estructura bajo el asiento usando los 2
X TORNILLOS M6 DE 10 MM.

Paso 5: Instale el T POLE bajo el asiento usando los 2 X TORNILLOS M8 DE 15 MM (a la izquierda o a la dere-
cha segun su preferencia del cambio de marchas)

Paso 6: Instale el GEAR SHIFTER ADAPTOR en el T POLE usando los 2 X TORNILLOS M8 DE 15 MM. Instale
la GEAR SHIFTER PLATE en el GEAR SHIFTER ADAPTOR usando el 1X TORNILLO M8 DE 15 MM.
El GEAR SHIFTER ADAPTOR se puede acercar o alejar.

Paso 7 (opcional): Si tiene el Buttkicker Gamer 2, instale el ADAPTADOR BUTTKICKER ADAPTOR usando los
orificios que hay bajo la estructura del asiento. Instdlelo con los 2X TORNILLOS M8 DE 35 MM.

Cojin lumbar
Paso 8: Coloque el LUMBAR CUSHION para apoyar en el la baja espalda.
Pase la correa por el asiento y enganchela en la posicion.

GTultimate Setup:
Paso 9: Instale el WHEEL STAND en el SEAT ADD ON usando los 2X TORNILLOS M8 DE 85 MM.

Aplanar/ajustar el angulo de la placa del pedal
Paso 10 (opcional): Para clientes que necesiten un angulo de placa del pedal mas plana o tengan pedales de
alto rendimiento que requieran un soporte mas fuerte

Retire el TORNILLO M8 DE de la bisagra que hay en el centro de la placa del pedal.
Repita en ambos lados.

Aplane la placa frontal y la placa del pedal quedara plana como se muestra arriba.
Se recomienda instalar los SUPPORT POSTS opcionales incluidos.

Si requiere ayuda con el producto, pdngase en contacto con nuestro amable equipo en:
support@nextlevelracing.com y recibird una respuesta rapida.

For assistance please contact: support@nextlevelracing.com

www.nextlevelracing.com




T

RACING SEAT ADD ON/ GTULTIMATE

Schritt 1
Installieren Sie SIDE PANELS zur U SHAPE BAR mit 2 x M8 35MM BOLZEN und CENTRE BAR mit 2 x M8
15MM BOLZEN.

Schritt 2: STOP, WENN SIE MOTION PLATFORM VERWENDEN, WEISEN SIE AUF BEDIENUNGSANLEITUNG
DES MOTION PLATFORMS VOR DER ANSCHLIESSEN SITZ VOR DER ANBRINGUNG DES SITZES HIN.
Installieren Sie SIDE PANELS auf GT ULTIMATE SEAT mit 2 x M8 50MM BOLZEN. Gleichzeitig fahren Sie den
Sicherheitsgurt durch den Sitz wie unten abgebildet und befestigen Sie den Sicherheitsgurt an der vorderen
Schraube.

Wiederholen Sie auf beiden Seiten.

Schritte 3: Fuhren Sie durch die langsten Gurte des Gurtzeuges durch Sitzkarosserie Locher. Befestigen Sie
2 X CROSS HEAD SCREWS, um unter der Riickseite des Sitzes Rahmen.

Schritte 4: Befestigen Sie Auflageleiste von U SHAPE BAR mit 2X M6 10MM BOLZEN, um unter Sitz rahmen
zu konnen.

Schritte 5: Befestigen Sie T POLE unter Sitz mit 2X M8 15MM BOLZEN. (Linke oder rechte Seite je nach
Schaltvorgang)

Schritte 6: Befestigen Sie GEAR SHIFTER ADAPTOR zu T POLE mit 2X M8 15MM BOLZEN. Befestigen Sie
GEAR SHIFTER PLATE zu GEAR SHIFTER ADAPTOR mit 1X M8 15MM BOLZEN.
GEAR SHIFTER ADAPTOR reversibel, um ferner oder naher zu sein

Schritte 7 (Optional): Wenn Sie Buttkicker Gamer 2 besitzen, befestigen Sie den optionalen BUTTKICKER
ADAPTER mit Locher unter dem Sitzrahmen. Installieren Sie mit 2X M8 35MM BOLZEN.

Lendenkissen
Schritte 8: Platzieren Sie LUMBAR CUSHION , um die Lendenwirbelsaule zu stiitzen.
Flhren Sie den Gurt durch Sitz und Clip in Position.

GTultimate Setup:
Schritte 9: Befestigen Sie WHEEL STAND zu SEAT ADD ON mit 2X M8 85MM BOLTS.

Abflachung / Einstellen des Pedal-Plattenwinkels
Schritte 10 (Optional): Die Kunden, die flachere Winkel der Pedalplatte bendtigen, oder Sie haben Hochleis-
tungspedale, die eine starkere Unterstitzung erfordern

Entfernen Sie M8 BOLT im Scharnier in der Mitte der Pedalplatte
Wiederholen Sie auf beiden Seiten.

Verflachen Sie die Frontplatte und die Pedalplatte sitzt wie oben abgebildet.
Wir empfehlen die Installation der optionalen SUPPORT POSTS.

Wenn Sie irgendwelche Unterstitzung mit lhrem Produkt benodtigen, kontaktieren Sie bitte unser freundli-

ches Team unter:
support@nextlevelracing.com fir eine sofortige Antwort.

For assistance please contact: support@nextlevelracing.com

www.nextlevelracing.com




TP

RACING SEAT ADD ON/ GTULTIMATE

AVAILABLE ACCESSORIES TO BUILD
THE ULTIMATE COCKPIT

Floor Mat

-

Monitor Stand

Gaming Desktop

Flight Pack

Motion Platform V3

The ULTIMRTE
Motion Cockpit

For assistance please contact: support@nextlevelracing.com

www.nextlevelracing.com



|

RACING

BUILD THE ULTIMATE COCKPIT

MONITOR STAND
[supports up to 1x55” screen
or 3x30" screens)

KEYBOARD &
= MOUSE STAND

GAMING
DESKTOP

MOTION
PLATFORM V3

FLOOR MAT

For assistance please contact: support@nextlevelracing.com




